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Current Data Parameters

NAME
EXPNO
PROCNO

FR-55
6
1

F2 - Acquisition Parameters

Date_
Time
INSTRUM
PROBHD
PULPROG
TD
SOLVENT
NS

DS

SWH
FIDRES
AQ

RG

DW

DE

TE

DO

D1

D11

D12

D13

D16

INO
TDav
SFO1
NUC1

PO

Pl

P17
PLW1
PLW10
GPNAM[1]
GPZ1
P16

D
SFO1
FIDRES
SW
FnMODE

20200709
3.31

spect
744896_0022 (C
cosygpppaf
2048
cpcl3

4

16
5681.818
5.548651
0.1802240
19.21
88.000
10.00
298.0
.00000300
.95084798
.03000000
.00002000
.00000400
.00020000
.00017600
1
599.9672563
1H

12.00

12.00
2500.00
3.59750009
0.82885998
SMSQ10.100
10.00
1000.00

coococooro

599.9673
88.778412
9.470

QF

h

Hz

sec

usec
usec

sec
sec
sec
sec
sec
sec
sec

MHz

usec

Fl1 - Acquisition parameters
128

MHz
Hz

ppm

F2 - Processing parameters

SI
SF
WDW
SSB
LB
GB
pC

599.9650141
QSINE

0

0

0

1.40

MHz

Hz

Fl - Processing parameters

ST
MC2
SF
WDW
SSB
LB
GB

1024

QF
599.9650141
QSINE

0

0

0

MHz

Hz



